2019~2020=25:P1) || pk &R I X Bk B CH BRI MNE
BV — _ EFEIFEE R HEFINS

)

5
i
s

o
o

=N
&
=
>
i
=H

| RECREREEE | JRE=2® , TRAEIR

D FEEOAE  REEN , R= 227 , HBHEIR
| RECARSREERIN | [REl=a® , #CIER ;
 BAORSAERE  [R= —a'? , HIDIRIR .

g 0
& B
=S =

o
&
O

Tl (1) MRTFTHESRE=SRELNE  RuMAES  BtER
) SER=AINRE=AIIND , ER
(3) IEf ;
(4) NEZEI—REIXZRELNELBRNKE | WHRZELNES | &2 .
HUEA .

V=]
== C

T2 (o > ORIR FRIRIRS ,
N —hy . 1, ) 2. : » ==
mu_mmﬁﬁ.®¢;m>wﬁﬁi,@wem,@¢Wﬁﬁam$Wﬁwuc>
S=wiRst |
HOEC .




/‘—‘n—‘—1
B=X

SR

I
M

“/{B=/C , 6 LA=/A,
- REENA—FORFATHES

BB T AABE<2 AACDHIEB .

A

AN MNEABNERYS% , ~AD=DB, ../DBA=/A=35°,
Y /4CDB=/A+ ZDBA =70° ,

~CDh=BC,..ZCBD=/CDB="170°, ..ZC =180° — ZCDB — ZCBD = 40° .

I DIEDFLACERNRF,

B

""ADJINABCH/BACHIBYESE
~./BAD = /CAD ,

""DELAB,

~./AED = /AFD = 90° ,

EAADEFINADFF |

/ZBAD = Z/CAD
LAED = LAFD ,
AD = AD

AADE2AADF (AAS) ,
-.DE = DF,
“DE=2, AB=4,
1 1
“Snapp = 5AB-DE =2 x2x4=4,

“SaaBc =T,



I
At

=N
=

I
At

N
=

I
At

b=
=

SSpacp =7—-4=3,
""Saacp = %AC- DF,
.‘%AC x2=3,

SAC =3,

H%B

1K= 107%KaT50 ,
201K =2 x 1075 .

HOEIIBIER .

O

MRS  RERIRERROREAE , REREED .
AIRIN , BIEIN : PRYERSRIREIEN , MABEIR

B ERIRESTHARMIERER | EREDIEER  AMFEEE , iCHER
DI%IN | BERIREIFRRADEER , EREDIIEEIR , FEEE DI .

Q

=
S

1%

P =a® +2b* + 2a + 4b + 2015

= (a® 4+ 2a + 1) + (2b* + 4b + 2) + 2012

= (a+1)*+2(b+1)* + 2012,

~Ha+1)? =0, (b+1)? =0, PER/IME.
L PRER/ME /92012 .

HU%EB



i NAABCREEIL=fAW ,
~.AB= AC , /BAD = ZACB = 60° ,

EAABDHIAACE"F ,

AB = AC
/ZABD = /ECD ,
BD =CE

SAABDLANACE ,

S/BAD = /CAE , AD = AFE ,

"./CAE = 60° ,
~ANADERZFN= ,
HO%ED .

..‘aZm—n — a2_m — (am)2 — z — é
a” a” 5 5
4
2m-n __ =
t8la 5

iy TEA. B. C. D, E. 1. 2. 3. 4. 57/, REB. C. D. Ef1. 3REAHXIFRE
F , fEERNEHFERT .

ME=EH B, C. D. E. 1. 3.

- 1
BE z< 2Bz # -5

it

=

Elﬁ A= =
EEW@%‘{@ngéo .



3z
4 +
WE=H  z2<28

ﬁ%ﬁ)‘i,mﬂx<2ﬂm¢—%.

1
1
a:;é—z_

"0C , OBDBI2ZACB , ZABCHIAFESE:
~.ZACO = /OCE , ZABO = /0OBC ,
""OD//AB , OE//AC ,

~.ZEOC = /ACO , ZABO = /BOD ,
".ZEOC = /OCE , /OBD = /BOD ,
BlOD=BD , OE=CE,

~AODEWIEK= OD + DE + OE

— BD+ DE+CE

= BC

= 8cm .

ﬁ&%ﬁjﬂ : 8m .

(1) —2a%b"c

(2) 2v2-2

(1) JRH= [(——a2b2c) : (_ﬁ)] - (~8a%8°)
= —bc- (—843b°)
=—2a%b"c

1
V2-1

@ Bt=|1-v2-(3-1)+

=v2-1-2++2+1
=22-2.



oy
=]

M

—40 .

4
il R = [4 (a%y? - 22y + 1) — (4 - 2%P)] - p
= [4z2y2 —8wy+4—4+z2y2] 4
Ty
Y
=20zy — 32,
N2z 1
é$:—2 ,y=gﬂj,
[Fz= 20 x (-2) x % —32

=—8—32

I}
L
=]
X
&l
®
=

(2) EEAET .

=N
i
=
=

pa
—

%]
=
S
7

(2) NEF,



A—-—l—|
BEX

iR

I
At

"APBCHIE{K= PB+ PC + BC ,

X BCHIKAEE ,
~.APBCRIK&/IMERIAIPB + PCHISR/IME ,
~NERCKFELEnAIXIFRERC” |
EZBC"XES%nT <P, W= PRI .

2a .

B, c<b<0,a>0,

Hla| > |e| > |b] ,

;a—b>0,b+c<0,-b>0,

BExX=1/(a—b)*+|c|—|b+¢c| — |-b] — (b—a)
=la—bl+lc|—|b+c|—|-b—-b+a
=a—-b+(—c)—[-(b+c)]—-(-b)—b+a
=a—-b—c+b+c+b—b+a

=2a .

WEREN 2 .

(1) 105K , EEDOEET .
1

@ <

(3) XAMHARF , BT .

(1) RIEAEE : (204 40+ 30) + (1 —10%) =100 (3K ) ,



oy
M

(1)
(2)
3)

M DHEZEEEE/9100 — (20 + 40 + 30) = 10 ( 3K ) , *NEEF , WIEFFR :
\EEHE
40F==-=----
30F------1 --F-
20f -

10p-1--F-4--F-1--+-

B Z 7® 7 gms

REZH1005K |, FBEEER205K |, W& T/NGHIMEIZ< FibAI EZR0EA
20 1

100 5 °

FIFRIT :

1 2 3 4

1 (1,1) (2,1) (3,1) (4,1)

2 (1,2) (2,2) (3,2) (4,2)

3 (1,3) (2,3) (3,3) (4,3)

4 (1,4) (2,4) (3,4) (4,4)

FrEEARERIEREE 168 | HR/NEHMEEF L NFHREREF/ 156
f:(1,2), (1,3), (L,4), (23), (2,9, (3,9),

. 6 3
P asmamsertonan = 63"

3 5
W Py assmmmronzen = 1 — PR

WAL .

UEBRIURRAT .
BX3Z , UEBRILRRAT .

YE{0EF = BE + FDARRAL , N4 2 EF = BE — FD , MFRBTLRAT .

SR




WK EBZIG , (§BG = DF , iE#AG ,

"“"LABG = ZABC = /4D =90° , AB=AD,

AB = AD
EAABGHIANADF+{ /ABG = LADF ,
BG = DF

~AABG2AADF (SAS) ,
""AG = AF , /GAB= /FAD ,
"/GAB+ /BAE = /FAD + /BAE

= /ZBAD — /EAF = %LBAD ,

./GAE = /EAF ,
AG = AF
~EAGAEFIAFAE®{ /GAE = /FAE ,
AE = AE

~AGAELAFAE (SAS) ,
~.EF = EF ,
"EG = BE+ BG = BE+FD ,
~EF=BE+FD .

(2) (1) PHNEICEF = BE + FDIBYARKAT |

SNEFRR |

Lo

M B E C
#EKCBEM , BM = DF

""/ABC + /D =180° , ZABM + LABC = 180° ,

“ZABM = /D,
AB = AD

STEAABMSAADFH{ /ABM = /D ,
BM = DF

~AABM<ZAADF (SAS) ,

~AF =AM , /MAB = /MAB= /FAD,
"'/EAF = %LBAD ,

~/BAE + /MAB = /EAF,

Bl/MAE = ZEAF



AM = AF

EAAME%DAAFEEP{ /MAE = /FAE ,

AE = AE

~AAMEZAAFE (SAS) ,

SEF=EM,

“"EM = MB+ BE = DF + BE ,

S EF=BE+FD,

" (1) PRIGISRAARLAL -

(3) 45ICEF = BE + FDARRIL , NX¥REF = BE - FD ,

SRR |

EBEL#EIBG , (fBG = DF , {&EEAG ,

4B+ ZADC =180° , ZADC + ZADF = 180° ,

“/B=/ADF ,

AB=AD

.-.EAABG%DAADFEP{ /ABG = /ADF ,

BG = DF

~AABGLAADF (SAS) ,

./BAG = /DAF , AG = AF ,

.ZBAG+ LEAD = /DAF + LEAD = /EAF = %ABAD ,

S./GAE = /EAF ,

AG = AF

AE = AFE

.-.EAAEG%DAAEFEP{ /GAE = /FAE ,

~AAEGZNAAEF (SAS) ,

-.EG = EF,

""EG = BE — BG = BE — DF ,

S.EF=BE—FD .

HE
i



=%
+¥d

i3

r

i

=
&
=

o
M

=%

41

=

Bz-y=1,
(z-y)’ =2 +y* —2zy=1,
A Bzy=2,

BN(2013 — 3m) (2012 —3m) =2,

MEREN2 .

2004

IR DXENRE N ETAD
a—2004 >0, Bla > 2004 ,
".a—2003>0,

M|a — 2003| = a — 2003 ,

Ba —2003 + /a— 2004 =a,
FEI8/5., /a — 2004 = 2003 ,
LS 1Ba — 2004 = 20032
Bla — 20032 = 2004 .

WEZES 2004 .

“ab=1>0, ..a, AT,

Y.a+b=-5<0,..a<0,b<0,

. . ab ab
. J?\Et: b_2 + a—2
Vab  \/ab
= — + _
Bl lal

(i

a



R

St
TR

AT

FRIEE R0 /CFE = 180° — 3 x 20° = 120° .

WMEEN 120 .

5

W& , i&E#EAC, BiA, BC: .

“"Spapc =1,

" Spa4,c =28p4Bc =2,

“Saape =1, SpaBc =2, Sace,B, =6,
Saasc, =2Spa80 =4,

~SaaBc, =6+4+4=14,
[EEAI1ESa4,B,0, = 14 X 14 =361 ,

ShauqByc, = 196 x 14 = 6859 ,

MAHEILUMSH— M | EKFLEEEIN=ATE)

EE8&IAA,B,C,

=

JELEFRS, = 14" . S§; = 14" = 537824,

""14% = 537824 ,

= FAAT14E | FRLARER SR



o3
M

(1)

(2)

3)

(1)
(2)

3)

- 4r+2=(x—2>-2;
z2—4w+2=(w—\/§)2+(2\/§—4)z,‘
w2—4w+2=(\/§w—\/§)2—w2.

a® +ab+b =(a+b)?—ab;

2 2 1 2 3 2 sz

4.

e —dx+2=(c—2)°-2;
2 —dz+2=(2—v2) +(2v2—4)z ;
m2—4m+2=(\/§z—\/§)2—m2.
a®> +ab+b =(a+b)°—ab;
2 2 1\ 3.9 5
a®+ab+ b = a—l—Eb +Zb . (B
A+ +c —ab—3b—2c+4
1.\* 3 ) 9
—(a—Eb) +Z(b_2) +(c—1)
=0,
1
Mﬁ'ﬁa—Eb=0,b—2=0,c—1=0,
Ma=1,b6=2,¢c=1,

Filla+b+c=4.

UEBADOREMT .
1:60°
2:BE = AD

AE =BE+2CM .

"/BAC = /DAE = 40° ,
.LBAC — £/DAC = Z/DAE — /DAC ,

Bl/BAD = /CAE ,

ERME—)

ERME—)



EABADIIACAE® ,

AB = AC
ZBAD = Z/CAE ,
AD = AFE

~ABAD2NACAE ,
".BD=CE .
(2) AACBMIADCE¥AESIN=F ,
JAC=BC,CD=CE,6 LZACB=/ZDCE =60° , ZACB = /DCE = 60° ,
/CDE = /CED = 60° ,
S LACB — £DCB = £LDCE — ZDCB ,
BlZACD = /BCE ,

EAACDHIABCER ,

AC =BC
ZACD = /BCE
CD=CE

~.AACD<ABCE ,

“.BE=AD , /ADC = /BEC ,

“HA, D, EEE—E%L,

~.ZADC = 180 — 60 = 120° ,

~.Z/BEC =120° ,

-./AEB = /BEC — /CED = 120 — 60 = 60° ,

ol =1 K=

LAEBRIFEER60° , ERBESADZ BIEIEXERE : BE= AD .
(3) “AACBMIADCEHINZIEER=FRAN .,

".AC=BC,CD=CE, /ACB= /DCE =90° , /CDE = /CED = 45°

LACB—- /DCB = /DCE — /DCB ,

BlZACD = /BCE ,

EAACDHIABCEYF ,

AC = BC
ZACD = /BCE ,
CD=CFE

SAACDLABCE

-.BE=AD , /BEC = ZADC ,



I
At

“RA, D, EEE—BE%L

".ZADC = 180 — 45 = 135° ,

"./BEC =135,

".ZAEB = /BEC — ZCED =135 — 45 =90° ,
"/DCE=90° , CD=CE , CM.DE ,

-.CM =DM =EM,

-.DE = DM + EM = 2CM ,

S.AE=AD+ DE =BE +2CM .

(1) VEBBIUMEHT .

(2) AC=CF+BF; AC=CF — BF .

(3) 6+2y7

(1) “ZACB=90° , RENHABHIH =,
" AE=CE,
" LACE=/A=30°,
FEITAIMRTS . LA'CE = ZACE ,
S.ZLBCF =90° — 30° x 2=30°,
""BF//AC,
..ZCBF =180° — LACB = 180° — 90° = 90° ,

..CF =2BF , BC = BF +tan30° = BF + ? =+/3BF,

X'AC = BC +tan30° = /3BF + ? = 3BF,
.AC = CF + BF .

(2) wWE(2) , &EEAB,



Q

/
F /
/
/
Af
< (2)
FHEMFEOMERIS , AE=AE , AC=AC , Z/A=/CA'E,
CERERNBZABRIPR
-.AE = BE ,
~BE=AE,

"/EA'B= /EBA',
""BF//AC,

/A= /ABF,
“/FA'B=/EA'B— /CA'E,
/FBA' = /EBA' — /ABF ,
Bl/FA'B=/FBA',
~A'F=BF,
“A'C=CF+AF,
.AC=CF+BF;

WE (3) , EZEAB,
C

E

(3)
FHEMFEOMERE , AE = AE,
AC=AC, /A= /CA'E,



RENBABRIF RS

~.AE = BE ,

~BE=AE,

"/EA'B=/EBA',

""BF//AC,

LA+ LABF =180° ,

"“/CA'E+ /EA'F =180° ,

/ABF = /EA'F,

“/FA'B=/EA'F - /EA'B,

/FBA' = /ABF — /EBA’,

BlZFA'B= /FBA',

~A'F=BF,

“A'C=CF—-AF,

.AC =CF — BF .
(3) W& (4) ,&EEAB, Y= FIEFGLBCTG ,

""BF//AC , ZACB=120°,

".Z/CBF = 180° — 120° = 60° ,
..\BG = BF - cos60° = 6 x % =3, FG = BF -sin60° = 6 x ? =33,

CG=BC—-BG=4-3=1,

FERtACGF S , OF = \/FG? + OG* = 1/(3v3)" + 1 = 247,
- AC=BF +CF =6+2J7.

EEN  6+2V7 .







